
PUZZLES

1.Brain Teaser Question:Two people played chess 5 times. Both of them won the
same number of games and there was not a single draw. How could this happen?

It is only possible if they play with other people

2. Math Brain Riddle: Find the weights of animals below.

If two bears weigh 120 kg, then one bear is 60 kg



One bear and one rabbit weigh 70 kg and a bear is 60 kg, then a rabbit is 10 kg.

One bear and one rabbit weigh 70 kg, and then a fox is 20 kg.

3. Can you solve this flower and teddy picture puzzle?

ANS 157


